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Q.No: 1 Fufifed # & IH-T1 TR I=RY QY FT ISR 32
A 3 Y 3’ T

B gl B oAl de

c "N B TG R T

D AR B FE

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 2 UIST % Tdq: IS Hedic T G4 T8l &
A TR

B S-S Wt F HIST BT IR
C THF Yahia wdem
D yag

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 3 3y @1 e & W el faar S 2-
A HhiEF are &l

B g Bl
C feran =t
D MW B

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 4 YT§T F TS SHTHTH BT Jal(id gk IaTeR0 -
A =1 B U -1y 3ug R ¥ e we

B Yo
o usif & IR feraarm
D THE-THeET &

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 5 5 & § HIF W1 UIeug® HT 0 37

A Ezcen)|
B g
C Iy

D IUgdl, WERAdT U4 sHeESr
Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 6 T3 & argawur fafy T & forg Suged B
A TR TR W

B T TR R

C S TR

D dH TR ®

Correct Ans : A
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Gl f by Jokm | | VY VI I I e W o W AT T IV TRV T bl

Subject : Hindi Bhasha 01

Q.No: 7 = & § menfires Faall & R0 F1 ST T Riamr S 9ifeu-
A S| P TGN T

B Faq Sl ol fawga 9 ¥ fadiemor

C Faq PRI BT faga w9 F faddeor

D Faa W 1 fawga Tu 2 e

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 8 w1 & ¥ I ygH A UIsy-gwia

A TH 9 7

B TF o B
c T e B

D IR e R

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 9 =1 # 9 ¢, 11U, 2005 & AR TR Riewr 1 =1y 2
A GG Bk

B a3

C EIGEaE-S

D ISR 5 Y- TG W e

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 10 4T I e UBR & &2

A Lc
B @
C il
D TR

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 11 HI¥ & FYRUM: &Y 8-

(1) M@ Hmr
(2) Tiplam HNT
(3) fafed v

A Faq (1)

B (1) 3R (2) <Ff

C Fad (3)

D (1), (2) ¥R (3) Wi

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 12 y157 fRIefor & 3feiat Mawa® ¢ & sl I 4 G Y|
A Peihuikcal

B Rauikcal

C fewTa faftearsht &1

D ygfeal &, 3fdt o1 ud Afaea faftmars o

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 13 O PRI & b & SAI6I BT IUYad g el 8-

11

o MU T e § IV § e § _SMHTHIMAITWHT IS YNTVWI_ VIOV W AN
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Gl f by Jokm | | VY VIO M1 I e o WA T IV I TIFIVIT T =il WV Y VWUV IO T L 7TV 0 e § __ENMTHINT TG T T YTV S U IOTY W dopn

A e Seiht TeRael T qHE R

B R e & T WENT T QAT BT
C S Xeal & TANT BT THLT FT FHUF BT
D eI SR BT AU FAHT

Correct Ans : D

Subject : Hindi Bhasha 01

Q.No: 14 wova Riemwr fAfYy e g2

A T fRigror &
B T fRigmr &
C e Rgor

D P g
Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 15 fofad &rf @t o § F= &1 gar - 9?

A P TET-BIY BT TG Sl B
B T TRl Tt ge e o &1
C =l B GO B gl T B UG BT AR 3R S edT & faeTd BT fawr e §1

D T gl & el & uRfRa 8 €)1

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:
R AR AT 7T TR ) UgeR OP U U & 9ad SfUd IR ard fawed o1 9 $ifvig-

T dit g & fasriia 3 & 39 & snyfeiarur ok e § Wiy T@7 9 safdadl & R JrHediatu e des I 81 s aul 39@! ke F teIReRad 98 Jollard exit 3
T § T R <8 faraia 2 & aRd PR & T 38 U@ SRR SR YUId! SUR & U § UG 501 81 fasr & Uy &1 Haa e o 2 § <6 91 37 99 I 6 9 § {6
THa UL IATG R I 31T BT IS 399! Y THaRe 31 39 o & yHscerr o fazg B fawm &1 T SR Shs® ART &1 T 81 onfie fawr & e # apisdiaRur o orf
2 el <= 3} arfoaen 1 s XM @Y sifoHaR @ W B) 9N favaadt s % g wl axgell & omara & gl ge, W gew | o, faaxh §olt & qea vare @t sgef, da éx
faRiesR SfdT, Star qur SRToRTEL &5 faRRf Gof-FMawr onfg SR srf-ferdl 1 AT snaxaes 71 onfies SeRieRor yHedeRy T SuRYd Xd § fRId e 331 1 sreforawn &1
fogeamdt s = faar o YadTl SRR FT 3 § & F I, AR, T SN SR Pl 3t Ser w3 3% fag=h 3 9 sauR R $R7 Td ST &1 9e1dT &7 Bt SeRal SRal
39 UHR YHSaR0 fafd ot gorn ¥ omara qur Wexil Sei-u=il St aen fac=ht Sem-u=i o g & 3 siyRyg -ifd &1 s I g, of fedf e S Ra A i g1 im s &8
Yolarel et A YHsTHR 3 fawra=iie 33 & [Tt sigyd aReM [T 81 7T 98 3 oxif & fawr & Ry sreme & fre g1

Q.No: 16 Iwfad Ter™ & faw e § § Ifa e &1 99 sifere-

A YAUSAIBRIT
B foraadt smam
C SYfIPIeBRI
D et &

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:
A A T U T ) UgeR I T U & F99 3T IR arel f[aded BT 99 Fife-

1Sl TR g & sl i 7 3n & snyFieieur 3R faer § S T 9 Afdadl & g yHSHeR U6 Hied eq ¢ SMds] au 391 R1ed & IIeRad! & Yoiard) aui 3
TR ey 7R ¥R fFerRia 23 & aRd em F R 39 1@ SRR SR TuIdt Sue & WU 8 veiid [ar 31 Ger & uy o Saa SiRg o 2R 3 3 a1 3 93 I &I A | T
FHd AR IATE SR I o @1 I | 3T@! YHeT I g1 59 of # yrschioxu o fava & faswm &1 71 SiR siev® IRT &7 71 31 o1 fawm & Jeof & yHseiary o1 onf
? ol S o} srforann & o =0 @t spfogan & Wag ) I faxgendt s 3u% fw wft aRgell % smara @t ga ge, W Yo | i, AR GOt & goa vaTg @t oy, Jar &
e §fT, dimr qur SreToRE 85 7 fagsh doR-awr onfe SeR arf-=Rifodd &1 SrueF siaRa® €1 s SERIERUN YHSHHERY ST SMYRYT Wd & forge AT &= 3 srfegaw] o
faxaendt smam €Y faan o wddn SRR &1 orf § 39 & I, AR, g I 3R FHafa @t Slen o 3 B g S9N 9 TR R A Td ST B 9gIaT & & JeRal saTl
U UBR YHSHIHR0 Fafd o gor 7 S qut el SaiT-enll 3 srle et Ie-em @) tieag & @Y SiuRyg Y BT SR Taa 3, ol frdt My FRA AN R e F a3
Jeltarel LK A wrseieR B i i & T e sigyd SR W 81 T 98 3 ol & faerd & R srrda &1 ferm @

Q.No: 17 IWfa Tl & SFHR “Sreei B R &1 e # & @ e 87

A foree wded ©, S @1 ok Pl
B MR FT | TG &I B T

c R P Fia geraht A TS R
D et Suged fawea

Correct Ans : D
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Gl f by Jokm | | VY VIO M1 I e o WA T IV I TIFIVIT T =il WV Y VWUV IO T L 7TV 0 e § __ENMTHINT TG T T YTV S U IOTY W dopn

Subject : Hindi Bhasha 01

Passage:
&= i feT T T 3 UgeR g TN RN & T8 I Ik a1l faded o1 9 $iferg-

et R g & fasraiiar 3=i B Aw & snyfaierur o e § Wi v@n o afaadl $ g yrsdare i ied U 31 Smiet aul Sua! foRed & uaiierardt 93 geffardt g=i 3
T ¥ Jo o 33 Reria 3= F aRa Rem & i 38 ww $RR 3R guid 3ok & w0 8 veifd 5 31 e & uy o) Saa srird 3 = 3 @9 9 39 93 I &1 A @ 5
T AT IATG AR T 1 F i T S0 YT TG g1 39 o & riSeiaur o fawa § faem &1 741 iR ofeda AR 99 T 31 S fawma & def & wyrisciiau o1 onf
T it 3= ) orfoqar &1 o AW &1 rforawa F WG BRI favgadt s 9% e at SRgell & omata B Gl ge, W Yoo & o, = Ot & ged varg @1 erufa, Jar &
o §ifd, offar qur SreTeRr &5 # fageh GoR-Fawr onfe IeR srd-=iiferd a1 e siiaxue 1 o SERIERUN YHSHHRU BT STURYT Xd o forads famT &= 3 sfeqawil &l
forgeamdt smam =it fear o adrl SeRidRer #7 o § 3R F e, AR, 9 ST SR ol 3t Ser B 3 F fad=h S 7 SR wiftd $RA Ud ST @) 91T &7 B SaRal SRl
3 UBR yHSdieRY Fafd & gam & o qut el SET-oRll 3t arde ARl IE-uni &) T & 31 SfiyRyd Y BT SueR Jadr 7, ol fhit e FRA A Aw F
Goftardt I apiseliaRur &) fadrasiia &0 & R Ue Sigyd sXaM THT 8| T 98 37 30 F fadr ¥ AT Srend &1 feRm 8

Q.No: 18 IWfed T & STER, yHSeHU §

A TS TS il F T e # wiaT Aia 71

B R & it 3 & THE e @t ue R R1
c faxa & wit A= & waF e ot wie PRa ?)
D R F it 3= & TuE e 3t e i {1
Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

e AR Rw U e @ UgeR I8 TN U & T Ifd IaR ardl fawed o1 9 $ifie-

3111 Rt g & ferasiia =i # 3@ & snyFaiewu ok faer § wf T o Afaadl & R yrsde 1@ des W 31 Smiie! au 39! fR1ed & weiieRakd! 53 oard 3wt 3
T § T R R Faeria 3 % afd e % Rt 38 16 SRR SR YHId IR % w0 § yaiikd a1 31 e % Uy 1 Haa srfura o 2y § 3 91 37 99 U 61 9 € 6
T AL IATE 3R AT o1 B I 7 37! YT iR g1 59 of & yrisclionur o faxg & e &1 741 iR Se¥e TR &7 711 81 e fasr & Teof 7 yHeaiieRur &1 arf
? 5t 2= B} apeforawnn &7 o =0 ot srfogaen & T FR I azaedt s 3u% fu Gt axgell & s &t ot ge, W Yo J o, g OOt & goat varg &t o, dar &
o dife, ofmr qun SreTeRE &9 # gl GoR-Fawr enfe SeR srd-=iifedl 1 oA Siaxa® §1 Sffe SRR YHSTHI I SR XA o [orgd [T oI H SHfeaawll Bl
gt smam &t foar o wwan SeRisRur o1 orf § 39 % S9N, TR, 9Y 39N SR fHafa @ Ser o) 3 A a3l Ie 9 R it IR T S B 9gial &1 &1 JeRal skaTl
T IR yHSHHR Fafd 3 gaq & omara o Wl Se-a=i @Y omden =l Ie- el B WMee 33 &1 sneRayd - BT SR Taar 3, o PR e F R AN ¥ e F a3
getarel I F sFSTPRUl Bl Rl IR & T U@ Sgyd aReM W1 §1 T 98 3 ORIl & 4P & o Srefd 1 R F

Q.No: 19 IFIT TR F AR, A HUH HT TG Pifore-
A fowa & o3 Yollardt ekt 7 ywisciowu 3l fawrasiia 2Rt & o U Sigyd ke AT 81
B fopra & w9y ) Fad orfra @1 e} I TG 9 7 9 I T A € P g I SdTe iR W oy Y 9f F gt Yt aneeie g

c e e & wef & yriaclia=or 1 onf § frelt 31 &Y srfoqawt 1 oy 3= ot srforar & rag IR I favaedt s=Em

D e TR SRl BT SURYT T & Rras R W 3w Y arferawn w1 Rraeandt smaw far o gear 21

Correct Ans : D

Subject : Hindi Bhasha 01

Passage:
& i T TU T Y UgdR I MU Ul & Fad Ifud IRl f[dded B 99 Pifere-

o At g & fareiiar axi & 39 & snyfatarur ok faem § Wi T@n o sfaadl & i yrsdieort & At T 31 SRS 9l 393! fiR1ed & t@IeRard 9 Yoliard! axit 3
Tt & el R % fawrakia o= & @Rd f9er & T 39 te SRR R YUId! QU™ & w0 § Taid 51 31 foar & uy &1 Saa sifvRa o € ¥ <6 a1 37 99 I8 o A § 6
FHT AL IAG AR I 31T BT IS H 59T Y THaRS 71 39 o & yrecierr o faza B fawr &1 T SR sy ART 99 1 81 i e & e F arisdiawor o eif
2 ol 3 3} orfouaw BT o/ RN Y srfTaen § wEe R I fazgerd S 9% e gt SRgell % o @1 gelt ge, Wi Yo A F, ok §oft & g vae @ ergufa, da1 &
faRrasR ST, i qur SRR T ¥ fagRh gofl-Fasr onfe IgR ard-fdl &1 SuAFT Siavu® B N SSRIERU YHSHHRU S STYRYT X1 & s 571 =1 3t srfegawn &1
faaardt smam ¥ fean o wwan IeRiaRur &1 orf § 39 % 39, SR, 7Y I SiR fafa ot Ier o) A B g Ie 9 TR Rt IR Td SEId &Y 98Il &7 &1 JeRal saT |
T TSR HSHHR0 Fafd F ger 7 smard qur el SeElT-all 3 erde Al Ieiv-uwil @) ticge & B uRygd A Y SR I 3, ol it W e S RA A T R A F w9
Gofardt et A apiScliaRu &) fawraiia &R % R U@ siqyd XaM WHT 3| T 98 39 4% F foer ¥ R srerd| @1 fRRm 8

Q.No: 20 ITIH Tl & UK, SRR drafg

A fag=h SahT-el @) e & 9 SRy A B @)

B AW & I, AR, Y I SR Fafa 3 Sten o= 3w A fI3h IHW 9 R i A T S $ 9G1aT 3 I SeRal eIl

C T K IAG IR AL 1 BT IS F 393 YT & Yd wR R A

D 2 & I, AR, Y I SR Frafa 3 Ster o= 3w A fI=h I 9 R i S T S Y gerar | &

Correct Ans : B

Subject : Hindi Bhasha 01
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g f by a3 BNE RIRERT TR lA I LR Pt WSS ARGR LD Nl WP hr 0 TEANAR 1 Emif Sl B RS I SO, § S R EAWET 0 Rl AT D SIR VpoAats T 1 S0 NSl ) W IR E Tl oA pras
Passage:
& AR T 1T TR ) UgeR I T A & 9ad Sd SR K fadbed BT 94 Bifoe-

3111 dRR g & faaraeiia 3= A 3w & snyReieur ok faer § w78 A Afemdl & g yHSHiet U Hied ek ¢ S au 99 Iy & weiiieRae! g3 doare! a3
T § o o %8 fawreia S & afd e & i 38 U6 SRR IR TUId! QU™ & ¥U § TG 5 71 e & uy &1 $aa sifve o 2 ¥ S a1 37 99 I 6 A | 6
TH A IUTE TR I o @1 I3 A 39! yfier auaiie 71 59 orf & yriselior s fava & faem &1 71 oiR sied® IRT &7 71 31 oo A & deof & yrseiary o1 anf
B el <=1 3} srfoaen 1 sy XN @Y siforaw § W ) 9N favaandt s % g ot axgell & omara @t gl ge, W gew | o, faash §olt & qea vare @t sgefa, dar &
faRiase ST, i aur SR &7 & fagRh gofi-Fasr onfe IgR ard-ifadl &1 oAl Savu® B e SERiHRU YHSHHRU S STYRYT X1 & RO 571 =1 3t srfeqawn &1
et smam 7Y fear o T SeRiaRur &7 o § 3 F I, AR, 7Y I IR Fafa @t Sher o) A F 3= I 9 TR R IR Td ST B 9gIaT &7 31 IeRal sRaT |
Y UHR YHScHR Fafd B gaeT # Smard au Wexll Ie-em 3 o Rl IH- 1=l @1 Hiars 39 1 suRyd Y B mFeR e 8, A fF R e FRa A 3 im v w3
Yollaret et 3 yHsclionr @ famrasiia =i & RT e sgyd wReM T 1 i 98 39 =i & Rer & R srardA &1 ferm 8

Q.No: 21 4= § § BIH-91 Ueg A BT qigard 82

A Sig=
B 3R
c faar
D 3TRId

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
A& i few T T ) UgeR U N R F Fad Ifd IR drel fdded B 99 Fiferg-

1T TR g & el 3R A 3w & snyReier 3R faer § w T 9 Afddl & g yHSHe U6 Hied Wea ¢ | ! au 391 R1eY & tIieRad! o Yoard) 3ai 3
TR & e 7R ¥R FerRia 2 & aRd em F R 39 @ SRR SR TuId Sure & WU 8 vEiid [ 31 e & Uy 3 Sad kR B 2 3 3 a1 3 93 I &I A § 15
THd AR IdTE SR T 31 @1 I A 30! yffieT aniRe g1 39 of H yriseliorun o fava # faswm &1 71 SiR Siay® IR1 84 71 51 o1 fasr & daaf # ysciiarur o1 onf
g el 3 31 opfouawy 1 o/ IR Y srfTaR § WEw IR I fazgeard S 3uE e w Sxgell & o 31 gelt ge, Wiw Yo A S, Aok §oft & qea e @ ergwfa, da1 &
R SfdT, dimr qur SeToRE 831 F fageh doR-Fasr onfe SeR ard-=iferd &1 srueF siaxa® €1 o SERIEHRN YHSHERY ST STUYRYT Wd & oG AT &= 3 srfegawl &1
faxaendt smam 6 faar o wadn SRR &1 o § 39 & IGNI, SAUR, Y I 3R Fafa o Slen w1 3 H 3= I 9 TR R IR Td AT B 9gIaT &1 &I JeRal saT
9 UBR Hsdox0r Fafd @ gor & s qut Wl SelT-all 3t ere Rl Ieiv- e @) ticage o @) SiuRyd Y BT SR Taar 7, ol it M e S Ra AR Am F w2
Goflardt I A apiScliau &) fawTaRiia X & [T Ue Siqyd aXaM UM g | T 98 39 %1 & e & R Srerd| &1 fRRm 8

Q.No: 22 Fra w1 & faew | A 2 @) fhar & e ue Wse o1 957 FiRe-

A frafa
B ram
c =
D T

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

& i feT T T 3 UgeR I8 TN URAl & 99 3fd IR aId faded o1 98 Sifere-

31 At g & famriia axi & 33 & snyFwiarur oiR e § Wiy waa 9 safeadl & i YHsdiaRu T g e 71 SRS aul IT@T RRIGS F taeRad! 98 goliard oxif 3
Tt § o o @ fasria 3 & aid e & e 38 te SRR SR wuidt SurE & U § yaid 5 31 e & uy o Saa sifvra o 2y ¥ S a1 37 93 I8 o1 A § 6
THA AT IATG AR I 1T B gfg H g0 YieT TS 21 39 o & yrigcliaur o fawa # fasm &1 74 $iR srta AR 97 a1 31 onfdfes fara & wef & wyrisehiaur o1 of
B el A B opfoawt 1 o AR Y sl § wag RS9 fazgendt s 3u R Wi axgell F s @t get ge, Wi Yoo A o, foush §of & qea vare @t srefa, da1 8
foRwex sifd, e qur SeTeRE &9 F fag=h GoR-Fawr enfe SeR ard-=ifedl B oM Siaxa 1 o SERITHRUN YHSHERU I SRS X o [T fa-1 ok B Srfoqaw] &l
gt smam et fean o T SeRieRu &1 orf § 39 % IET, FUR, 7Y I 3R afd B Ser o) 3 7 3=l 39 9 TR R R Td 3mEId B 9gaT &1 31 IeRal skaT |
T UPR SR fafa & gaar # smard qu Waxll Ie-o= 3 ol Al Je-w=l &) Mieimg 37 @1 sieReyg A 3 sroeeR Tean 8, S Pl i e S RaA = 3 im v a3
Yoltardt e A appiSeliaRu @) fawraRiia <X & [T Ue Siqyd aXaM WM 8| 7T 98 37 4N & faem & g oremd| &1 RRm 8

Q.No: 23 f=ffaa & & F9-11 v a1 3t =P A = 32

A qforifey
B ufafafy
C LRI
D aferfedt

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:
& BT B UgaR Y T Al & Ja IR IR a1 fImed &7 997 Bif-
WP HUT & o § feaw, I
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Gl f by Jokm | | VY VI I I e W o W AT T IV TRV T bl

S & SR # Frva wrlt o 91
HeAT SIAYA BT gAA St et 1
A PTe STl &R faeme di
49 HY FAF THIE B f[FA-A @
i Gelt P F Fiew Aeg™ d
R FEAM P11 TRA G
B SH F9 W Haa 399 41

Q.No: 24 fm # ¥ Iwfaa dfddl & Tafar &1 911 Fargu-

A I st
B weredt anf
c I\ g fAaw

D TG TeE gieery

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

R BT 3 UgaR U T U & a9 IR SaR 10l fawed &1 757 Sifvie-
W PO F IO F fRaw, 19

M F R F Fear wrht o F1

e STeTo Bt gara S oneft

A P1e Sreht aoniR faer

A7 HY Fab THIA B - @

S Gl PIa & Piea AegN™ i

R FEMY BT 6 TR G

P T F9 R aa 399 A1

Q.No: 25 fmfefaa & & eonitR o1 o @ 32

A AT & BT N Do
B Fo 8 val & 7T S SHaren
G e gl

D gd 909 qF qe aral

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

=T TR BT UgHR Y T TRAT & &S S Sk a1 [Gbed BT 94 BIfoie-
W U F v § feaw, 9

i & SR F P urlt o A

el SIIU 1 gaIu Bl el I

T e STeft &R fema 9

A9 P FoOb THI BT -8 @

i et BIa & Piea Age™ Al

R FEAM T 36 TRA GAT

P 9H F9 W faa 399 1

Q.No: 26 fy=fafaa ¥ & frg wee &1 Wit Iude dfdaal & = fasan man 82
A FEE

11

o MU T e § IV § e § _SMHTHIMAITWHT IS YNTVWI_ VIOV W AN

B o
C I
D o=
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Page - 6



il fintmy Wek') 1 1¥E VIO M1 I e o WA T IV I TIFIVIT T =il WV Y VWUV IO T L 7TV 0 e § __ENMTHINT TG T T YTV S U IOTY W dopn
Correct Ans : D

Subject : Hindi Bhasha 01

Passage:

FERT: PTART BT UgHR Y T TR & oS I Sk a1 [ahed BT 94 BIfoie-
WP B S Iolrel H faad, I

i & SR F P urft o J)

Hel S0 D1 gaIu= B1 el I

A e STelt &R fema A

A9 P Fob U B - @

S gl wIa & plew AgeN Al

R FEAM T 67 T_A G

P 9H F9 W faa 399 1

Q.No: 27 38 pfa forad ey &R vy 1 g7 & fore fm & 9 var wsg &1 9o wifomg-

A [GEE
B =g
c e
D PRy

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

R PToaiY BT UgHR UY T U & ¥ SR Ik a1 facbed B Ta Bifvie-
WS DU & o H f&ad, I

it & SR # P wrft o )

e §TeToH Bt gara St oeft

Y e STeft oniTR faem 9

AT Y b T B -3 @

3 el P F plea e 1

R FEMY BT G TRA G

B SH F9 W Afiaa 399 A1

Q.No: 28 TipIfad bt PT TR S, IS i b1 7w 3k 82

A it & g 9 fovd) o1 g1 €

B T e F A BRI

e SYHTRS G A1 IS &1 B
D ol gof 1 R =i Tegy S

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

FHERT: FHTART T TgdR I T TRAT & Ia9 S Saik a1 fadhed &1 99 Sifoie-
WS DU b e H faad, I

M & SR H Fa urlt o A

e STeI9 Bt garad S1 et I

7 P1e STeft iR faem d

AT P Feib I B -3 @

i gl w1 & piea Agg™ Al

R FEA BT 1 TR BT

P oM F9 W faa 399 1
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Q.No: 29 49 § § -1 Xeg "SI’ HT eI gaiard Teg §2

A gty
B g
C fost
D &

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

R FTOI BH TgHR Y T U & S I Sk a1l Aebed BT 90 Bifig-
WF FU F Io § feag, I

F & SR F P wrlt o )

el 1Y BT g ST 31t I

A FIc STeft iR faem F

I S b TUIT B P 1

S el BIa & Fied aee A1

R SN BT SHTET TRA g1

B SH Fe W Haa 399 A1

Q.No: 30 = & § S1H-31 ez eam 7 fadiy Weg B2

A H
B RIUEa]
C I
D e

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 31 Which of the following is divisible by 5 and 6 ?
2461561

e & 4 $1 5 3R 6 I faursy 22
8954160

8954160
1165315

1165315
8765120

8765120
909580

909580
Correct Ans : A

Subject : Mathematics

Q.No: 32 Which of the following is divisible by 9?
2461588

frofafeaa & § o1 9 I favrsa &2
93457

93457

12RAA?

11

o MU T e § IV § e § _SMHTHIMAITWHT IS YNTVWI_ VIOV W AN
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B
138642
97568
C
97568
642762
D
642762

Correct Ans : D

Subject : Mathematics

Q.No: 33 If a and b are odd numbers then which of the following is an even number

2461619 7fy 5 3R b fywy YoMy § O g & I $9 T T IBm ¥

at+b
A a+b
B a+b+1
a+b+1
ab
c ab
ab + 2
D ab + 2

Correct Ans : A

Subject : Mathematics

%‘Nm 34 What should come in place of the question mark (?) in the following question?
66903 »516 37+ (17)2=7

Frafafaa v F waames fre (7) % W w1 ot ike?
2516 + 37+ (17)%2 =7

345
A

345

382
B

382

357
C

357

324
D

324

Correct Ans : C

Subject : Mathematics

Q.No: 35 What should come in place of the question mark (?) in the following question?
2467036

[(185 +2) + 72.5] =7 + 0.2

e vy & wams [ (?) & M W &1 oM Jiiee?
[(185+2)+4725]=7+02

30
A
30
66
B
66
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 9/48
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C 33
33
22
D
22

Correct Ans : C

Subject : Mathematics

Q.No: 36 What is the area of the triangle that can be fitted into a rectangle of height | units and width b units?
2467551

Y &1 & o § Bl Sar | SH13a ok 9IS b 3Tl ¥ omaa § fbe faan S g 82

g

g

=&

Ib
Correct Ans : A

Subject : Mathematics

Q.No: 37 Which statement is true?

2468027

DI A HUT TG 87

A line segment has two end points.
A

T ¥ @S # o 3fd g 8 B

A line segment has no end points.
B

TP Y €S 31 P o fig T 2

A line has one end point.
C

@ X 31 @ 3 fig S §1

A line has two end points.
D

T X & § o fig T 8
Correct Ans : A

Subject : Mathematics

Q.No: 38 What determines the incentre of a triangle?
2468136

Bl &1 siads e R PrufRa o s g2

A Medians

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/48
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——

Angle bisector

I GAGHISS

Perpendicular bisectors

e gAfgueS

Altitudes

[F I
Correct Ans : B

Subject : Mathematics

Q.No: 39 The supplementary angles are in the ratio 19 : 17. The angles are:
2468200

TR HI01 19 : 17 & 30 7

50°, 130°
A

50°, 130°

0°, 180°
B

0°, 180°

60°, 120°
C

60°, 120°

95°, 85°
D

95°, 85°

Correct Ans : D

Subject : Mathematics

Q.No: 40 1In a right angle triangle, the two acute angles are in the ratio 3 : 2. The smaller acute angle is:
2468205

TF qHHI Bye §, € A F07 3 : 2 F U F T Sl AR 3

30°
A

30°

54°
B

54°

36°
C

36°

60°
D

60°

Correct Ans : C

Subject : Mathematics

Q.No: 41
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/48
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2468271 The ysual form for 5.04 x 10-3is:

5.04 % 1055 [UIHREUE:

0.504
A
0.504
0.00504
B
0.00504
504000
C
504000
0.0000504
D
0.0000504

Correct Ans : D

Subject : Mathematics

Q.No: 42 The method of mathematics teaching which is not suitable to teach lower classes is
2468479

TIforG 1 e ffdy S o SICT Pansh # vgH & e Suged 1 §

analytic method

A
frcomers fafy
lecture method
B
e fafy
laboratory method
C
warTmer fafy
inductive-deductive method
D

IRF-IoRs Ry
Correct Ans : B

Subject : Mathematics

Q.No: 43 Rajesh buys 3 kg 5009 of sugar and 4 kg 900g of rice. Find the ratio of sugar to rice.
2469660

9 3 foset 500 A i IR 4 fset 900 I Trad Whear 71 Y SR Traw @1 Siura F1d Bl

7:1
A

7:1

7:10
B

7:10

5:7
C

5:7

1:2
D

1:2

Correct Ans : C

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Q.No: 44
2469838

Find the product of 2y, 14y, 3y, 15y*:

2y, 14y, 3y3, 15y2 &1 0% I i

1260 y7

1260 y7

630y

630y

1260 y*

1260 y*

630 y*

630 y*

Correct Ans : A

Subject : Mathematics

Q.No: 45 Two numbers are in ratio 3:5 and their difference is 18. Find larger number.

2473328

S WA 3:5 A B1 TTHT R 18 §1 < St U T fvfomu|

27

27
36

36
45

45
54

54

Correct Ans : C

Subject : Mathematics

Q.No: 46
2473401

Find triplicate ratio of 1:2:4.

1:2:4 ST A6KRH SIU 1A B

11

o MU T e § IV § e § _SMHTHIMAITWHT IS YNTVWI_ VIOV W AN

8:1:64
A
8:1:64
1:8:64
B
1:8:64
64:8:1
C
64:8:1
D 4:2:1
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 13/48
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4:2:1
Correct Ans : B

Subject : Mathematics

Q.No: 47 A teacher uses the following riddle in a class while developing the concept of base 10 and place value ‘I am less than 8 tens and 4 ones.” The objective of this
2476017 activity is

MR 10 3R VT A Y 8 35T 3R 4 THE I HH § B AURUN (THRIT HRa T07 TF e FHen & Aufofa vt &1 Iwdnn wwar 31 39 Tl &1 3z

to have some fun in the class and to break monotony

A a1 & 5o Tl B 9IR TR A & g
to reinforce the concept of base 10 and place value
8 SR 10 SR R T 2 R B geT 70 ¥ R
to do summative assessment
¢ TS i B
to introduce the concept of tens and ones to the students
D

B B S SR THTE P S@yRON § IR TR & Rig
Correct Ans : B

Subject : Mathematics

Q.No: 48 If x stands for + and + stands for -,then find the value of the following equation:

2480936
39x23+21x5
Tfg x o1 of + g 3R + 31 opef - B, o Fmfaiea wHiieRw &1 7 w9 sif:
39x23+21x5
46
A
46
36
B
36
62
C
62
89
D
89

Correct Ans : A

Subject : Mathematics

Q.No: 49 If'+’' means ‘x’, ‘-’ means ‘+’, '+’ means '+’ and ‘x’ means*-'then 80 - 20 + 10 + 6 x 4 = ?

2480953
g+ @ e rx, w e e, e wr o e Rk o g, N80-20+10+6x4=7?
102
A
102
80
B
80
60
c
60
D 68
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 14/48
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68
Correct Ans : C

Subject : Mathematics

Q.No: 50 Given interchanges: signs + and x, and numbers 2 and 8; then the value of 4 x 8 + 2 is

2481003

T T e (MU ® gean): i + 9l x, iR T2 3R 8; W4 x 8+ 2B AR

4
A

4

8
B

8

12
C

12

16
D

16

Correct Ans : D

Subject : Mathematics

Q.No: 51 Given interchanges: signs + and +, and numbers 2 and 12; then the value of 2 + 4 x 12 + 4 - 3 is

2481051

U T SeES (39 B wga): g + OiR +, IRV 23R 12, W2+ 4 x 12 +4-3FAFE

10
A

10

9
B

9

8
c

8

7
D

7

Correct Ans : D

Subject : Mathematics

Q.No: 52 Gardner formulated a list of seven intelligences which among the following is not one of them

2481403
TR 3 O ganel & e g d9R 9, S Pefifed § 3 e e E
Logical-Mathematical Intelligence
A T
Spatial Intelligence
© fordr i
Bodily-Kinesthetic Intelligence
¢ i TR o
D Emotional Intelligence
HIETHS g

Correct Ans : D

Subject : Mathematics

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 15/48
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Q.No: 53 The characteristic of a test to discriminate between high achievers and low achievers is?
2481666

I AR T B3 aral oIk iy Suaf wrawatsit & g fadg o7 & e e weor ot faiv g2

A Validity
Qe

B Differentiability
foran

c Objectivity
e

B Reliability
fseeigar

Correct Ans : B

Subject : Mathematics

Q.No: 54 A teacher is trying to counsel a child who is not performing well after an accident. Which one of the following is most appropriate about counseling in schools?
2481830

T Ried 05 T 7= $ R 37 BT 70N TR @ € S gl F 915 351 Ve T A @1 ¥) fenedi f i & aR & Pl ¥ § 7F 9 99 Iugw 82

It is about the palliative measures for making people comfortable

A T Sl 3 SRR T ¥ RN SR S & R AR
It builds self-confidence of people by letting them explore their own thoughts
y T i ) a1 S B T O T 8 oy e e o o B e ¥
It is about giving the best possible advice to students about their future career options
c 75 T B s o 5 o Rl R e i G 2 AR AR
D It can be done only by the professional experts

Tg Faat IR st g1 6t foan o o §
Correct Ans : B

Subject : Mathematics

Q.No: 55  Constructivism as a theory
2481839

& Rigid ¥ w0 # Yo

focuses on the role of imitation

A o B YT R IRA L

emphasises the role of the learner in constructing his own view of the world
8 < 35 R & oo R R X R e W R R d
c emphasises on memorising information and testing through recall

RO & T ¥ TSR P aqTE TG 3R T | R T §

emphasises on the dominant role of the teacher

D e 3 T AT W OR 30T
Correct Ans : B

Subject : Mathematics

Q.No: 56 which form of reasoning is the process of drawing a specific conclusion from a set of premises?
2482420

T BT HH T T IRWR F T ¢ F v QRE Few Forem 3t ufsa 22

rationalism

deductive reasoning

y S
inductive reasoning
¢ STHTTHS Tb
D qrobabilistic
qHIT

Correct Ans : B

Subject : Mathematics

Q.No: 57 According to RCEM approach the correct order is
2482492

RCEM I & IR T& HH §

input, output, process

SIS, 3MITYS, Hfswar

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 16/48
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B output, process, input
3Ieqe, Uik, STge
process, input, output
C
i, FE, SMSTye
D input, process, output
FTYe, Wi, 3mseye
Correct Ans : D
Subject : Mathematics
Q.No: 58 The structure of the unit is based on
2482711
1. Subject-matter
2. teaching objectives
T BT ..o TR e §
1. fawm axg
2. e 3g=a
Only 1 is correct
A
FaT 1 TR 8
Only 2 is correct
B
Fae 2 TR
Both 1 and 2 is correct
C
1R 2w &
D Neither 1 nor 2
TALRAR2
Correct Ans : C
Subject : Mathematics
Q.No: 59 A good objective should be
2482755
T 3T IR A AR
Related to teacher
A
Riers ¥ Gl
Testable
B
Teror drg
c Small
D Attractive
Correct Ans : B
Subject : Mathematics
Q.No: 60 Teaching-learning process fundamentally completed -
2482852
T Mifcre w0 ¥ R sreAgA-dian B uichn g g
A Class room
DET PE
B School
q
Society
C
A
Home
D W
Correct Ans : C
Subject : Mathematics
Q.No: 61 The main cause of Global Warming is:
2469457
T T BT T HRU R
A Solar energy
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 17/48
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Radioactivity

B

Yeufdiar

Nuclear energy
C

TRENY el

Increasing concentration of green house gases in the atmosphere
D

TR & W e A B wgeht Wi
Correct Ans : D

Subject : Environmental Study

Q.No: 62 The types of forest grown in the Himalayan mountain region is called-

2469735
femrer uddia & # ST M 919 9 F TR S §-
Broad leaved forest
A
A ot o
Coniferous forest
B
THUR &
Deciduous forest
(@
qaget g
Evergreen forest
D

HIEER a1
Correct Ans : B

Subject : Environmental Study

Q.No: 63 Which is the major vehicular pollutant?

2470032
e TG BT ST PRSP §-
H-S
A
H-S
CO3
B
COz
NH;
C
NH;
NOx
D
NOx

Correct Ans : D

Subject : Environmental Study

Q.No: 64 Which is the primary pollutant?
2470033

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 18/48
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WA UgNS B T -
SO;
A
SO3
Ozone
B
KIE)Cf
PAN
C
PAN
co
D
co

Correct Ans : D

Subject : Environmental Study

Q.No: 65
2470127

Khetri (Rajasthan) is famous

YA (oM URE &

gold mine

i B '

Copper mines

s 3 @

Granite mine

IISe |@H

Marbel mine

AR B /A

Correct Ans : B

Subject : Environmental Study

VI I I e W o W AT T IV TRV T bl

11

o MU T e § IV § e § _SMHTHIMAITWHT IS YNTVWI_ VIOV W AN

Q.No: 66 Which German educationist lesson plan is prevalent in Europe and India nowadays

2470222

ToThe XY iR HRd H 5 st Rienfae redior fafdy e & 3-

Herbert

w_ac

Dalton

SleeT

Montessori

HUSHRT

Froebel

EIcK|

Correct Ans : A

Subject : Environmental Study
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Q.No: 67 Houses with Thick mud walls keep the house _______
2470580

A gt ) et ad W R B feenhd

Cool
A

EEl

Ventilated
B

TAGR

Hot
(@

T

Dirty
D

Tiar

Correct Ans : A

Subject : Environmental Study

Q.No: 68 The most well- known disaster occurred on 24th March ,1989 and related to Exxon shipping company.
2472130

T9 WIS STUaT 24 A 1989 &1 g5 At 9IR g v R Hoet & Fafa -

0il spill
A
a fearg
Earthquake
B
W
Tsunamis
C
T
Flood
D
CI3

Correct Ans : A

Subject : Environmental Study

Q.No: 69 The process of burning municipal solid waste in a properly designed furnace under suitable temperature and operating conditions is known as;
2472171

UG AUHM SR gRara Rl F ded e Sfid wU § e 31 7 vgt H TRURGT $ 319 SufE & o 3 Uk 31 Fel 9 g
Sanitary landfill

A
e dsfva
Incineration
B
HE
Vermi Composting
C
il FfET
Recycling
D
B0

Correct Ans : B

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 20/48
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Subject : Environmental Study

Q.No: 70 Primary aim of watershed protection

2472295

STTAHHR TR&UT HT WAHS Ied

to preserve, sustain and restore water quality

Tt BT UG Y SHIY R, ST X R 98T R & g

to manage urban settings

e AT T e A F R

produce energy

il T IGH

deals with epidemics

e ¥ eift 3

Correct Ans : A

Subject : Environmental Study

VI I I e W o W AT T IV TRV T bl

11

o MU T e § IV § e § _SMHTHIMAITWHT IS YNTVWI_ VIOV W AN

Q.No: 71 Under which system woman can marry more than one husband and keep all of them with herself is known as.

2472560

o el F ded AR T A 3 ufddl  wel R I ST Y 7@ I 8,

Polygamous

EREEI]

Polyandrous

Tgufaa

Patronymic

T

Procreation

g

Correct Ans : B

Subject : Environmental Study

Q.No: 72

2472690

Which of these is not a lipid?

1 3 F B forfrs = §-
oil

¥

Fat

qar

Protein

LGt

Waxes

Eaiea)

Correct Ans : C
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Subject : Environmental Study

Q.No: 73 In jaundice, which part of the body gets inflamed by bacteria?
2472774

fiferan 1 & Sfary) gR1 *RR & 5 o & gu o oIl 32

Liver
A
aHd
Stomach
B
e
Heart
(@
[
Hands and legs
D

TR R

Correct Ans : A

Subject : Environmental Study

Q.No: 74 The Satellite Telecommunication Experiments Project (STEP) was a -

2473880

JWIE GIUAR UReu URAISHT (2T a1 STEP) f -

joint project of ISRO and the Department of Telecommunications.
A

T SR AR FAURT B Ygaa oREemTl

solo project of ISRO.
B

TR P} T uRkdemT

joint project of ISRO and the Post and Telegraphs Department.
[o

T IR I SR dR AU St Ggea uRaiem|

joint project of ISRO and the Department of Earth Sciences.
D

TR IR Tt o farmT Bt Sigea ik

Correct Ans : C

Subject : Environmental Study

11

Q.No: 75 EOQS-3, a geo-imaging satellite is capable of near-real time monitoring of?

o MU T e § IV § e § _SMHTHIMAITWHT IS YNTVWI_ VIOV W AN

2474045
EOS-3, T ¥-3ANAT ITUE T f5ud anafdes THd &1 FIRE! $37 & Fem §?
Cyclones and floods

A
Thad 3IR 91
Only floods

B
Hqq WG
Only cyclones

C
Faa geard
Birds

D
gt

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 22/48

Page - 22



Gl f by Jokm | | VY VI I I e W o W AT T IV TRV T bl

Correct Ans : A

Subject : Environmental Study

Q.No: 76  Which of the following moons appears on the total lunar eclipse?
2474054

Fofifaa & & o a1 s gof 9% 7eu W e ga g2

Super moon

g

Blue moon

=TT

Blood moon

IS

Half moon

BIH
Correct Ans : C

Subject : Environmental Study

Q.No: 77 Which country launched Sputnik-1I in 1957?
2474131

1957 B YA - 11 ST U forg =1 = fobam ur?
USA

RUSY

Russia

Japan

India

YRd
Correct Ans : B

Subject : Environmental Study

Q.No: 78 Which pole of the moon remains in shadow?
2474202

SHT BT BIF T ¢ BT H gl 82

East

w

North

West

South

afror

11
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Correct Ans : D

Subject : Environmental Study

Q.No: 79 Mars water is trapped in its rather than having escaped into space.
2474238

TG &1 UF Sialke & o9 & 9o oom H B g1

Ocean
A

HENTR

Crust
B

gt ()

Orbit
C

DEl

Moon
D

Cr

Correct Ans : B

Subject : Environmental Study

Q.No: 80 Which of the following is not assessed while conducting soil testings on soil?
2475708

T R g1 e Hxa wmg e # 3 fouer geaie 781 i o 32

nutrient content

A
WP ad
color
B
[
structure
C
X
acidity
D
SRTT TR

Correct Ans : B

Subject : Environmental Study

Q.No: 81  Which of the following soils hardens irreversibly upon repeated wetting and drying?
2475712

Fofafed & § $1 I fired) TR-aR T 7 iR FOH R uRad=ig 9 § FoR 81 ol 872

Sulfidic
A
PRSP
Petrocalcic
B
Lo Casicy
Plinthite
c
fmmse
Alfisols
D
LCCIE]
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Correct Ans : C

Subject : Environmental Study

Q.No: 82 Which of the following is NOT a traditional method of irrigation?
2475869

FrafeRad & & &9 A Riar ot arafes Al =8 &2

Moat
A
e (frh
Dhekli
B
Tt
Rahat
C
e (IF )
Sprinklers
D
foseE o=

Correct Ans : D

Subject : Environmental Study

Q.No: 83 Who was the first Indian woman to win a medal at the Olympics?
2476528

it # e Sita- aret Ugel HRA Afgen & A2

P.T Usha
A

W, sm

PV Sindhu
B

., fiy

Karnam Malleswari
C

HUH Heawd

Ashwini Nachappa
D

ST e

Correct Ans : C

Subject : Environmental Study

Q.No: 84 Who among the following was first awarded the Param Vir Chakra?
2476609

FrofifEd & ¥ 59 9e9 Ugd TRAdR 9% o GEId fd1 T AT?
Major Jadunath Singh

A
R g Rig
Major Somnath Sharma
B
FOR G T
Major Karam Singh
C
TR e Rig
Major Piru Singh
D

TR U Rig
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Correct Ans : B

Subject : Environmental Study

Q.No: 85 While conducting cooperative learning, the role of the teacher is that of a
2477260

i) Facilitator

ii) Observer

Choose the correct code

TRt e 1 AT PR o ReE PR SR
i) R

ii) Terp

TE FAS T

i) only

i) Faa
ii) only

ii) Paq
Both i) and ii)

i) &R i) SN

Neither i) nor ii)
Tdri) T ii)

Correct Ans : A

Subject : Environmental Study

Q.No: 86 Unplanned lessons of an educational visit

2477344
TRram ymor # o Jee:
Should be explicitly pointed out to the children
A
T P Wy FU I Rrar Ay
Need not to be focussed
B
oI HTd B Y SAaRTHA T §
Can be ignored
C
ST foan o et §
may not be fixed at all
D

foegpa T & & 9
Correct Ans : A

Subject : Environmental Study

Q.No: 87 What should be incorporated while planning lessons for EVS?
2477380

i.Natural environment

ii. Future sustainability

iii. Cultural environment

qafaRuT SfeH & 1T Urst @ Qo S g o1 i fosar o anfge?
i. UIpfie FaraRu
i, Hfawr @ RRar
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i, AP GECIRICR |

Only iii

Fad iii
Only i

i, il and iii

i, ii 3R iii
Only i and iii

Fad i i iii

Correct Ans : C

Subject : Environmental Study

Q.No: 88 In which year did Government of India enact the Disaster Management Act?

2477905

URT TSR 7 U1 Fae S fg af s=mr ur

2002
A

2002

2005
B

2005

2007
C

2007

2010
D

2010

Correct Ans : B

Subject : Environmental Study

Q.No: 89  Which of the following is an open-ended test-item?

2478652

Fofafad § 9 S o gaa uRemu-ug 82

Write the word by suffixing ‘ing’ to play.
A

T e & 3 H "TE & I e o

How many ways can you use a brick?
B

3T & TP F T P IUAN FR FPd 82

Who controls the teachers and students in a school?
[«

% g A Rl ok ol 3 B P s g2

Which is the main material used in building pucca houses besides cement and mortar?
D

Wiie SR TR F SfaraT Ueh HHH S H TYT S arel T wnt B < 82

Correct Ans : B

Subject : Environmental Study

Q.No: 90 Which of the following statements about student Portfolio is wrong?
2478680
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It can enable teachers to observe the improvement of students.

Tg Rie/! 1 BET & UR BT Pt $7 J T B IHd1

Unlike other tools this is not a tool of self-evaluation for the students.

3 IUHT F AT 78 BE F RN W-Teaice 1 Th I T 2

The best works of the students can be compiled in portfolios.

HIEwIRME # SRl & wdlaH STl B Wepfo R o ww 31

Portfolios can be integrated with classroom instruction.

QBT B e I F T P frar o T 3

Correct Ans : B

Subject : Environmental Study

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Let me but do my work from day to day,

In field or forest, at the desk or loom,

In roaring market-place or tranquil room;

Let me but find it in my heart to say,

When vagrant wishes beckon me astray,

"This is my work; my blessing, not my doom;
"Of all who live, I am the one by whom

"This work can best be done in the right way."
Then shall I see it not too great, nor small,

To suit my spirit and to prove my powers;
Then shall I cheerful greet the labouring hours,
And cheerful turn, when the long shadows fall
At eventide, to play and love and rest,

Because I know for me my work is best.

Q.No: 91 What does the word ‘doom’ mean in the given poem ?

A still in existence; not extinct or destroyed or lost

B devoid of intelligence

(o} death, destruction, or any very bad situation that cannot be avoided
D containing or based on incorrect reasoning

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Let me but do my work from day to day,

In field or forest, at the desk or loom,

In roaring market-place or tranquil room;

Let me but find it in my heart to say,

When vagrant wishes beckon me astray,

"This is my work; my blessing, not my doom;

"Of all who live, I am the one by whom

"This work can best be done in the right way."

Then shall I see it not too great, nor small,

§ i § MR ATV TGNV WI SV IVTY W AN
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To suit my spirit and to prove my powers;
Then shall I cheerful greet the labouring hours,
And cheerful turn, when the long shadows fall
At eventide, to play and love and rest,

Because I know for me my work is best.

Q.No: 92 Which of the following is the most suitable title for the given poem?

A desire and happiness
B hardships in life

C unnatural things

D work

Correct Ans : D

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Let me but do my work from day to day,

In field or forest, at the desk or loom,

In roaring market-place or tranquil room;

Let me but find it in my heart to say,

When vagrant wishes beckon me astray,

"This is my work; my blessing, not my doom;
"Of all who live, I am the one by whom

"This work can best be done in the right way."
Then shall I see it not too great, nor small,

To suit my spirit and to prove my powers;
Then shall I cheerful greet the labouring hours,
And cheerful turn, when the long shadows fall
At eventide, to play and love and rest,

Because I know for me my work is best.

Q.No: 93 Which of the following is nearest in meaning to the word 'eventide' in the given poem?

A daybreak
B evening
C sunrise

D failure

Correct Ans : B

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Let me but do my work from day to day,

In field or forest, at the desk or loom,

In roaring market-place or tranquil room;

Let me but find it in my heart to say,

When vagrant wishes beckon me astray,

"This is my work; my blessing, not my doom;
"Of all who live, I am the one by whom

"This work can best be done in the right way."
Then shall I see it not too great, nor small,

To suit my spirit and to prove my powers;
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Then shall I cheerful greet the labouring hours,
And cheerful turn, when the long shadows fall
At eventide, to play and love and rest,

Because I know for me my work is best.

Q.No: 94 ‘Then shall I cheerful greet the labouring hours’. What does the given line mean?

A the speaker talks about being cheerful in every situation

B the speaker wants us to feel good even on bad days

Cc the speaker talks about enjoying after doing all the hard work
D the speaker wants us to think about life

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Let me but do my work from day to day,

In field or forest, at the desk or loom,

In roaring market-place or tranquil room;

Let me but find it in my heart to say,

When vagrant wishes beckon me astray,

"This is my work; my blessing, not my doom;
"Of all who live, I am the one by whom

"This work can best be done in the right way."
Then shall I see it not too great, nor small,

To suit my spirit and to prove my powers;
Then shall I cheerful greet the labouring hours,
And cheerful turn, when the long shadows fall
At eventide, to play and love and rest,

Because I know for me my work is best.

Q.No: 95 ‘This work can best be done in the right way’. Which part of speech is the word ‘right’ in the given line of the poem?

A noun

B verb

C adjective
D adverb

Correct Ans : C

Subject : English Language 02

Passage:

Direction: Read the given poem and answer the question given below accordingly.
Let me but do my work from day to day,

In field or forest, at the desk or loom,

In roaring market-place or tranquil room;

Let me but find it in my heart to say,

When vagrant wishes beckon me astray,

"This is my work; my blessing, not my doom;
"Of all who live, I am the one by whom

"This work can best be done in the right way."
Then shall I see it not too great, nor small,

To suit my spirit and to prove my powers;

Then shall I cheerful greet the labouring hours,
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And cheerful turn, when the long shadows fall

At eventide, to play and love and rest,

Because 1

Q.No: 96 ‘And cheerful turn, when the long shadows fall’. Which of the following is opposite in meaning to the word ‘cheerful’?

A
B
e
D

know for me my work is best.

dull

happy
bright

chipper

Correct Ans : A

Subject : English Language 02

Passage:

Direction

: Read the given poem and answer the question given below accordingly.

Let me but do my work from day to day,

In field or

In roaring

forest, at the desk or loom,

market-place or tranquil room;

Let me but find it in my heart to say,

When vagrant wishes beckon me astray,

"This is my work; my blessing, not my doom;

"Of all who live, I am the one by whom

"This work can best be done in the right way."

Then shall

I see it not too great, nor small,

To suit my spirit and to prove my powers;

Then shall

I cheerful greet the labouring hours,

And cheerful turn, when the long shadows fall

At eventide, to play and love and rest,

Because 1

Q.No: 97
A
B
C
D

know for me my work is best.

*"This is my work; my blessing, not my doom’. What does the given line mean in the poem?

the speaker wants us to think about our work before we start doing it

the speaker talks about his work and considers it a blessing not a bad thing or situation
the speaker is willing to take unnecessary risks

the speaker is not satisfied with his work

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Our political leaders will know our priorities only if we tell them, again and again, and those priorities begin by showing up in the polls. For an election to be free and fair,
all citizens who meet the eligibility requirements need to be able to register to vote and they should also be eligible to run for office if they meet the eligibility

requirement. No one should be deprived of it. Government could not prevent people who want to run for office if they meet the same eligibility criteria as other politicians
and candidates who are running for office.

Government should also make such arrangements that all the voters can actually cast their votes. For this purpose, reach of polling places and reasonable
accommodation should be made to ensure that all the voters including those who are with a disability or other health condition, or lack of transportation, are still able to
cast their vote. For a free and fair election all the voters should also be informed about the candidates and the political parties so that they can decide and choose the
best candidate for them. In this regard, fair media can play an important role for informing and educating the people about candidates whether they are in power or are
in opposition. For a free and fair election, no voter should be intimidated at any point during and before the election including outside and inside the polling station.

The threat or intimidation can make people afraid to vote their preference. It should be ensured that no one, except the voter, can watch the ballot while voting to
maintain the secrecy of voting. This also ensures that voters feel safe and secure while voting and they are voting for the candidate as per their choice. Every eligible
voter should be able to cast only one ballot, no one illegally cast more than one ballot. If illegal ballots are counted the result will not reflect the will of voters. Counting
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all ballots and giving accurate reporting for declaring the result are essential parts of a free and fair election. Each and every casted ballot must be counted for fair
reporting and fair result. They should not be altered or thrown out and after a fair count the result should be declared and every one should respect the result.

Q.No: 98 which of the following is the most suitable title for the given passage?

A Electoral Bonds

B Democracy v/s Dictatorship
C Free and Fair Election

D Elections and Communism

Correct Ans : C

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Our political leaders will know our priorities only if we tell them, again and again, and those priorities begin by showing up in the polls. For an election to be free and fair,
all citizens who meet the eligibility requirements need to be able to register to vote and they should also be eligible to run for office if they meet the eligibility
requirement. No one should be deprived of it. Government could not prevent people who want to run for office if they meet the same eligibility criteria as other politicians
and candidates who are running for office.

Government should also make such arrangements that all the voters can actually cast their votes. For this purpose, reach of polling places and reasonable
accommodation should be made to ensure that all the voters including those who are with a disability or other health condition, or lack of transportation, are still able to
cast their vote. For a free and fair election all the voters should also be informed about the candidates and the political parties so that they can decide and choose the
best candidate for them. In this regard, fair media can play an important role for informing and educating the people about candidates whether they are in power or are
in opposition. For a free and fair election, no voter should be intimidated at any point during and before the election including outside and inside the polling station.

The threat or intimidation can make people afraid to vote their preference. It should be ensured that no one, except the voter, can watch the ballot while voting to
maintain the secrecy of voting. This also ensures that voters feel safe and secure while voting and they are voting for the candidate as per their choice. Every eligible
voter should be able to cast only one ballot, no one illegally cast more than one ballot. If illegal ballots are counted the result will not reflect the will of voters. Counting
all ballots and giving accurate reporting for declaring the result are essential parts of a free and fair election. Each and every casted ballot must be counted for fair
reporting and fair result. They should not be altered or thrown out and after a fair count the result should be declared and every one should respect the result.

Q.No: 99 Why should all the voters be informed about the candidates in elections, according to the given passage?

A so they can decide and choose the best candidate

B because politics depends on diminishing the opponents
C because many candidates have criminal records

D so that they can work well in their local areas

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Our political leaders will know our priorities only if we tell them, again and again, and those priorities begin by showing up in the polls. For an election to be free and fair,
all citizens who meet the eligibility requirements need to be able to register to vote and they should also be eligible to run for office if they meet the eligibility
requirement. No one should be deprived of it. Government could not prevent people who want to run for office if they meet the same eligibility criteria as other politicians
and candidates who are running for office.

Government should also make such arrangements that all the voters can actually cast their votes. For this purpose, reach of polling places and reasonable
accommodation should be made to ensure that all the voters including those who are with a disability or other health condition, or lack of transportation, are still able to
cast their vote. For a free and fair election all the voters should also be informed about the candidates and the political parties so that they can decide and choose the
best candidate for them. In this regard, fair media can play an important role for informing and educating the people about candidates whether they are in power or are
in opposition. For a free and fair election, no voter should be intimidated at any point during and before the election including outside and inside the polling station.

The threat or intimidation can make people afraid to vote their preference. It should be ensured that no one, except the voter, can watch the ballot while voting to
maintain the secrecy of voting. This also ensures that voters feel safe and secure while voting and they are voting for the candidate as per their choice. Every eligible
voter should be able to cast only one ballot, no one illegally cast more than one ballot. If illegal ballots are counted the result will not reflect the will of voters. Counting
all ballots and giving accurate reporting for declaring the result are essential parts of a free and fair election. Each and every casted ballot must be counted for fair
reporting and fair result. They should not be altered or thrown out and after a fair count the result should be declared and every one should respect the result.

Q.No: 100 Why is it important to make sure that all the casted ballots are not altered?
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A it is important for fair reporting and fair result

B illegal ballots don’t affect voting results so much
(e it is not important at all to do so

D it is not possible to change casted ballots

Correct Ans : A

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Our political leaders will know our priorities only if we tell them, again and again, and those priorities begin by showing up in the polls. For an election to be free and fair,
all citizens who meet the eligibility requirements need to be able to register to vote and they should also be eligible to run for office if they meet the eligibility
requirement. No one should be deprived of it. Government could not prevent people who want to run for office if they meet the same eligibility criteria as other politicians
and candidates who are running for office.

Government should also make such arrangements that all the voters can actually cast their votes. For this purpose, reach of polling places and reasonable
accommodation should be made to ensure that all the voters including those who are with a disability or other health condition, or lack of transportation, are still able to
cast their vote. For a free and fair election all the voters should also be informed about the candidates and the political parties so that they can decide and choose the
best candidate for them. In this regard, fair media can play an important role for informing and educating the people about candidates whether they are in power or are
in opposition. For a free and fair election, no voter should be intimidated at any point during and before the election including outside and inside the polling station.

The threat or intimidation can make people afraid to vote their preference. It should be ensured that no one, except the voter, can watch the ballot while voting to
maintain the secrecy of voting. This also ensures that voters feel safe and secure while voting and they are voting for the candidate as per their choice. Every eligible
voter should be able to cast only one ballot, no one illegally cast more than one ballot. If illegal ballots are counted the result will not reflect the will of voters. Counting
all ballots and giving accurate reporting for declaring the result are essential parts of a free and fair election. Each and every casted ballot must be counted for fair
reporting and fair result. They should not be altered or thrown out and after a fair count the result should be declared and every one should respect the result.

Q.No: 101 Which of the following statements is NOT correct according to the given passage?

A the threat or intimidation can make people afraid to vote their preference

B every eligible voter should be able to cast only one ballot

C fair media can play an important role for informing and educating the people about candidates
D eligible people should be cast out from elections

Correct Ans : D

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Our political leaders will know our priorities only if we tell them, again and again, and those priorities begin by showing up in the polls. For an election to be free and fair,
all citizens who meet the eligibility requirements need to be able to register to vote and they should also be eligible to run for office if they meet the eligibility
requirement. No one should be deprived of it. Government could not prevent people who want to run for office if they meet the same eligibility criteria as other politicians
and candidates who are running for office.

Government should also make such arrangements that all the voters can actually cast their votes. For this purpose, reach of polling places and reasonable
accommodation should be made to ensure that all the voters including those who are with a disability or other health condition, or lack of transportation, are still able to
cast their vote. For a free and fair election all the voters should also be informed about the candidates and the political parties so that they can decide and choose the
best candidate for them. In this regard, fair media can play an important role for informing and educating the people about candidates whether they are in power or are
in opposition. For a free and fair election, no voter should be intimidated at any point during and before the election including outside and inside the polling station.

The threat or intimidation can make people afraid to vote their preference. It should be ensured that no one, except the voter, can watch the ballot while voting to
maintain the secrecy of voting. This also ensures that voters feel safe and secure while voting and they are voting for the candidate as per their choice. Every eligible
voter should be able to cast only one ballot, no one illegally cast more than one ballot. If illegal ballots are counted the result will not reflect the will of voters. Counting
all ballots and giving accurate reporting for declaring the result are essential parts of a free and fair election. Each and every casted ballot must be counted for fair
reporting and fair result. They should not be altered or thrown out and after a fair count the result should be declared and every one should respect the result.

Q.No: 102 What does the word ‘deprive’ mean in the given passage?

A formally reject or disavow a formerly held belief
B prevent someone from having or using something
C something that is difficult to understand

D being of questionable authenticity
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Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Our political leaders will know our priorities only if we tell them, again and again, and those priorities begin by showing up in the polls. For an election to be free and fair,
all citizens who meet the eligibility requirements need to be able to register to vote and they should also be eligible to run for office if they meet the eligibility
requirement. No one should be deprived of it. Government could not prevent people who want to run for office if they meet the same eligibility criteria as other politicians
and candidates who are running for office.

Government should also make such arrangements that all the voters can actually cast their votes. For this purpose, reach of polling places and reasonable
accommodation should be made to ensure that all the voters including those who are with a disability or other health condition, or lack of transportation, are still able to
cast their vote. For a free and fair election all the voters should also be informed about the candidates and the political parties so that they can decide and choose the
best candidate for them. In this regard, fair media can play an important role for informing and educating the people about candidates whether they are in power or are
in opposition. For a free and fair election, no voter should be intimidated at any point during and before the election including outside and inside the polling station.

The threat or intimidation can make people afraid to vote their preference. It should be ensured that no one, except the voter, can watch the ballot while voting to
maintain the secrecy of voting. This also ensures that voters feel safe and secure while voting and they are voting for the candidate as per their choice. Every eligible
voter should be able to cast only one ballot, no one illegally cast more than one ballot. If illegal ballots are counted the result will not reflect the will of voters. Counting
all ballots and giving accurate reporting for declaring the result are essential parts of a free and fair election. Each and every casted ballot must be counted for fair
reporting and fair result. They should not be altered or thrown out and after a fair count the result should be declared and every one should respect the result.

Q.No: 103 Which of the following is nearest in meaning to the word ‘prevent’?

A boost

B hinder

C prefer

D advance

Correct Ans : B

Subject : English Language 02

Passage:

Read the passage given below and then answer the questions given below the passage.

Our political leaders will know our priorities only if we tell them, again and again, and those priorities begin by showing up in the polls. For an election to be free and fair,
all citizens who meet the eligibility requirements need to be able to register to vote and they should also be eligible to run for office if they meet the eligibility
requirement. No one should be deprived of it. Government could not prevent people who want to run for office if they meet the same eligibility criteria as other politicians
and candidates who are running for office.

Government should also make such arrangements that all the voters can actually cast their votes. For this purpose, reach of polling places and reasonable
accommodation should be made to ensure that all the voters including those who are with a disability or other health condition, or lack of transportation, are still able to
cast their vote. For a free and fair election all the voters should also be informed about the candidates and the political parties so that they can decide and choose the
best candidate for them. In this regard, fair media can play an important role for informing and educating the people about candidates whether they are in power or are
in opposition. For a free and fair election, no voter should be intimidated at any point during and before the election including outside and inside the polling station.

The threat or intimidation can make people afraid to vote their preference. It should be ensured that no one, except the voter, can watch the ballot while voting to
maintain the secrecy of voting. This also ensures that voters feel safe and secure while voting and they are voting for the candidate as per their choice. Every eligible
voter should be able to cast only one ballot, no one illegally cast more than one ballot. If illegal ballots are counted the result will not reflect the will of voters. Counting
all ballots and giving accurate reporting for declaring the result are essential parts of a free and fair election. Each and every casted ballot must be counted for fair
reporting and fair result. They should not be altered or thrown out and after a fair count the result should be declared and every one should respect the result.

Q.No: 104 *Media can play an important role in informing’. Which part of speech is the word ‘important’ in the given line of the passage?

A noun

B adverb

[o adjective

D conjunction

Correct Ans : C

Subject : English Language 02

Passage:
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Read the passage given below and then answer the questions given below the passage.

Our political leaders will know our priorities only if we tell them, again and again, and those priorities begin by showing up in the polls. For an election to be free and fair,
all citizens who meet the eligibility requirements need to be able to register to vote and they should also be eligible to run for office if they meet the eligibility
requirement. No one should be deprived of it. Government could not prevent people who want to run for office if they meet the same eligibility criteria as other politicians
and candidates who are running for office.

Government should also make such arrangements that all the voters can actually cast their votes. For this purpose, reach of polling places and reasonable
accommodation should be made to ensure that all the voters including those who are with a disability or other health condition, or lack of transportation, are still able to
cast their vote. For a free and fair election all the voters should also be informed about the candidates and the political parties so that they can decide and choose the
best candidate for them. In this regard, fair media can play an important role for informing and educating the people about candidates whether they are in power or are
in opposition. For a free and fair election, no voter should be intimidated at any point during and before the election including outside and inside the polling station.

The threat or intimidation can make people afraid to vote their preference. It should be ensured that no one, except the voter, can watch the ballot while voting to
maintain the secrecy of voting. This also ensures that voters feel safe and secure while voting and they are voting for the candidate as per their choice. Every eligible
voter should be able to cast only one ballot, no one illegally cast more than one ballot. If illegal ballots are counted the result will not reflect the will of voters. Counting
all ballots and giving accurate reporting for declaring the result are essential parts of a free and fair election. Each and every casted ballot must be counted for fair
reporting and fair result. They should not be altered or thrown out and after a fair count the result should be declared and every one should respect the result.

Q.No: 105 It should be ensured that no one, except the voter, can watch the ballot’. Which part of speech is the word ‘except’ in the given line of the passage?

A preposition
B conjunction
C determiner
D adverb

Correct Ans : A

Subject : English Language 02

Q.No: 106 The brainstorming techniques best helps in which of the following?

A in overcoming the problems of spellings

B in developing learner’s vocabulary

C in helping students in forming new sentence
D none of the given options

Correct Ans : C

Subject : English Language 02

Q.No: 107 1In which of the following way, a teaching should teach the language learners?

A through imitation

B in isolation

C in an integrated manner
D by giving instructions

Correct Ans : C

Subject : English Language 02

Q.No: 108 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

She said that we can go you like.
A till
B wherever
C even if
D while

Correct Ans : B

Subject : English Language 02

Q.No: 109 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

1 am not good cooking.
A at
B
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C of
D about

Correct Ans : A

Subject : English Language 02

11
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Q.No: 110 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

A
B
C
D

She said, "I'm a bit about your health.”
annoy

comfort

concerned

clearly

Correct Ans : C

Subject : English Language 02

Q.No: 111 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

A
B
C
D

He was in a mood.
filthy

average

brightly

cheerfully

Correct Ans : A

Subject : English Language 02

Q.No: 112 Direction: Find the most appropriate option for the given blank space which can make the given sentence grammatically and contextually correct.

A
B
C
D

She looks in that dress.
beautifully

beauty

fantastically

fantastic

Correct Ans : D

Subject : English Language 02

Q.No: 113 Which among the following activities may best assist a child in learning Vocabulary?

A
B
C
D

watching
reading
talking and reading

writing

Correct Ans : C

Subject : English Language 02

Q.No: 114 The word formation process consists of which of the followings?

A
B
e
D

compounding and conversion
spelling and compounding
conversion and meaning

using synonyms and euphemisms

Correct Ans : A

Subject : English Language 02

Q.No: 115 Which of the following is a feature of a good listening task?

A

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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B
C
D

Inexpensive to administer for a large number of students
Variety of tasks chosen by students

Simple and easily completed in a large number of student

Correct Ans : A

Subject : English Language 02

Q.No: 116 Which of the following is a feature of the fluent speaker?

A
B
=
D

mathematical ability
kinaesthetic ability
musical ability

verbal-linguistic ability

Correct Ans : D

Subject : English Language 02

Q.No: 117 A disorder which refers to physical difficulty forming words and letters known as—

A
B
Cc
D

Autism
ADHD
Dysgraphia

Dyspraxia

Correct Ans : C

Subject : English Language 02

Q.No: 118 Which of the following is not true about Grammar Translation method (also known as deductive method of teaching English grammar)?

A
B
C
D

Students learn the grammar rules in their native language.
It is a student-centered method of teaching.
This method hardly involves any pronunciation or speaking practice.

Students are passive receivers of information in this method of teaching English grammar.

Correct Ans : B

Subject : English Language 02

Q.No: 119 Which of the following correctly explains 'principle of habit formation'?

A
B
C
D

Language and its associated skills can be mastered with regular practice.
Skills of second language only can be mastered with practice.
Motivation must be cultivated in habit or day-to-day schedule to master a language.

Imitation of teachers must be practiced as a habit to master a language.

Correct Ans : A

Subject : English Language 02

Q.No: 120 What precedes remedial teaching?

A
B
C
D

Diagnosis of problems of students
Diagnosis of problems of teacher
Diagnosis of behaviour of students

Diagnosis of problems faced by parents

Correct Ans : A

Subject : English Language 02

Q.No: 121 First step of socialization is -

2473699

FHNHR BT TuH JaH & -
Group

e

Institute

T
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[ol Family
TRarR
School
D
e

Correct Ans : C

Subject : Child Developement

Q.No: 122 Involving parent’s in the education of their child will --

2473727
e b1 Riefl T SAfHIaeT HI AP B § —--
Makeup to Inadequate reading material
A
ST o wnEdt ot aifagfd s
Compensate for low - quality teaching
B
e — Tqoreran fRreror & forq &t off
Be one important element in an effective plan
C
TF yu frerTerd QuR Ao A eyl o
Mend the communication gap between administrator and teacher
D

TS U9 et & e Gareear f @R SR
Correct Ans : C

Subject : Child Developement

Q.No: 123 Which of the following do not help in understanding the ethnic individual differences?

2473765
frofaled § & SH-u1 o SfkrTd far 31 gueH § 7eg T IR 82
Value system
A
T IRt
Verbal and non verbal communication
B
Hifew @ iR Afes TR
Intelligence
C
=
Difference learning arrangement and process
D

SHFFTH B R SR ufehar ¥ SiR

Correct Ans : C

Subject : Child Developement

Q.No: 124 Match and choose the toys for various age group

2474457
Column 1 Column2
1. For the baby a. Small stout wapons, trains, picturcs, books
2. For one year baby b. Building blocks, construction toys, jigsaw puzzles books, painting
equipmenls
3. For 2 years baby c. Musical instnunents, model cars. acroplanes
4. For 3 vears old d. Rattled or knitted ball. hang tovs
5.Fordand § yearold | e. Soft washable toys, rubber dolls and animals
6. Forall apes f. Low ladders, swings. real tool bones ctc.
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FIAA 1 HaA 2

1. a2 & AT a. Y ¥erse du, 3, e, qEah

2. & af & =0 & fav | b. Rafesn enivw, Fepam wiga, el w3 359, i seaor
3.2 at ¥ o= & faw ¢. Wifld TEATH, AlSH TN, §a§ AqH

4.3 8% & 9w & fdw d. & g o1 gt gf g, e e faela

5.4 3Rk 6 af & fw o. 7R Ui ART e, @ A aidar sk g

6. T amg & faw f. & 9, 3@, faw ¢ d=w iy

1-d, 2-f, 3-b, 4-e, 5-a, 6-c

1-d, 2-f, 3-b, 4-¢, 5-a, 6-c
1-d, 2-e, 3-a, 4-f, 5-c, 6-b

1-d, 2-¢, 3-3, 4-f, 5-c, 6-b
1-e, 2-f, 3-a, 4-b, 5-c, 6-d

1-e, 2-f, 3-a, 4-b, 5-c, 6-d
1-e, 2-f, 3-d, 4-c, 5-b, 6-a

1-e, 2-f, 3-d, 4-¢c, 5-b, 6-a

Correct Ans : B

Subject : Child Developement

Q.No: 125 A child is conditioned to fear a furry, black cat. Soon she becomes fearful of any black, furry object. Her new response demonstrates

2474537

o ST aTelt, el ARt & SRar §1 S € 9% [ ot i, STat At g 9 59 A 31 Sue 7S wiafhan fan §

Spontaneous recovery

e GAIQr

Negative transfer

TAPRIHAD RIFIA

Stimulus generalization

TieaTR ARATEHRor

Operant conditioning

v

Correct Ans : C

Subject : Child Developement

Q.No: 126 Match and choose the pattern of motor control

2474672

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx

Column 1 Column2

1.4 to 5 months a. Shows more coaperation during play and a willingness to share

2. 6to 7 months b. Shows more interest in playing with other babies and uses play materials to
establish social relationship

.9to 13 months | c. Smiles at other babies an shows an interest in their crying

3
4. 13 to 18 months | d. Tries to attract the attention of another baby or a child
5. 18 to 24 months | ¢. Attempt to explore the clothes and hair of other babies

AR g0 & e &1 fram ¥

3R TGP T B

PP I vV Vo NAUIT IV VIV § =l WSV Y VULV § L= 1TV § = § MG T T YTV _ S U IOV Sl
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ST 1 FIAH 2
1. 4 ¥ 5 7Y 2 BF & R FgIr &0 3R 30 AT & Y 3507 & EHT
& #|
2. 6% 7HEA b. 3 Sel & WY Oda # A0 fwaeh Ramr ¢ sk

Iel

3. S 137w

. = Fed &) d@as qEEw IR 3as O A I Raw

B

4, 13¥F 18 Ad=

. GFY T & e diae A SR &en

5. 18 ¥ 24 wENY ¢, GE{ Tedl & F9F AR O @A S FEr

1-e, 2-d, 3-b, 4-c, 5-a

1-e, 2-d, 3-b, 4-c, 5-a
1-d, 2-c, 3-e, 4-a, 5-b

1-d, 2-c, 3-¢, 4-a, 5-b
1-d, 2-e, 3-b, 4-a, 5-c

1-d, 2-e, 3-b, 4-a, 5-c

1-e, 2-d, 3-c, 4-b, 5-a

1-e, 2-d, 3-c, 4-b, 5-a

Correct Ans : B

Subject : Child Developement

Q.No: 127 The term Theory of mind refers to which of the following abilities?

2475490

R} offs RS Yearad! Fafafed & § e amarel & HEita 82

Have telepathic abilities

MR ermranali &1 g

Understand one's own and other people's mental states

ST 3R 3T AN B AR e

Lack of meta-cognition

T-BIRA Bl HH

All of the given options

fom T wft faweg

Correct Ans : B

Subject : Child Developement

Q.No: 128 Smallest unit of meaning in a language is

2476109
ot urn 9 o Bt G B 3T At B
Phoneme
A
B
Pragmatics
B
TR
Syntax
C
a1 g@s
D Morpheme
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AR
Correct Ans : A

Subject : Child Developement

Q.No: 129 1In a constructivist classroom, language learning should be based on

2476124

TS Defl #, i Riaor Fofafaa # 3 e w sneria g =fee

the transaction of the prescribed text book by the teacher
A

Rreres grR1 Fuffa TreT T &1 AR

learner’s previous knowledge in constructing their new knowledge using authentic tasks
B

U Sl &1 SUGNT SR 370 -1¢ I & fwior 7 Ramdf &1 e 7

the assumption that English language can only be learnt if the teacher transmits it to the learners
C

Tg yron {5 SRl o @it died o Tl § o Riew T8 Rigondf o waka s

drill and practice of grammatical items
D

RN F YR B FaARG AR AR
Correct Ans : B

Subject : Child Developement

Q.No: 130 Which of the following is not an acquired trait of a learner?

2476209
o -1 o el g1 oiffa o 78t 82
Height
A
@G
Cultural outlook
B
el eRF
Education
C
e
Manners
D
RigrER

Correct Ans : A

Subject : Child Developement

Q.No: 131 Which of the following is/are correct regarding the objectives of a teacher?

2476917
1. They should develop the capacity of the children to learn.

2. They should strengthen the capacity of the childrento learn.
Choose the correct code

et & sl & deu d =g AT sigayaagrdRg?
1. 3o Il Sl ATRH T ATITAT T TdhTH FLATAG T

2. 356 Tl hl AITERTH S FIIAT hl AT =T =BT
TR -

1 only

¥aq 1

D Anle
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" < vy
Pad 2
Both 1 and 2
[
<Ml 1 3R 2

Neither 1 nor 2

Ad 1R 2

Correct Ans : C

Subject : Child Developement

Q.No: 132 Which of the following is an enduring change in a living individual which is not heralded by his genetic inheritance?

2476977
Profifed § 3 BH-01 T Siide o 3 U @il uRadH 2 o Ut SR fvred O I A 9 27
Learning
A
3fferH
Maturation
B
Raebdr
Reflex action
C
i foam
Phylogenetic functions
D

Sfgeia srf
Correct Ans : A

Subject : Child Developement

Q.No: 133 Which of the following represents the RTE Act, 2009?

2478075

frafafed 8 @ o1 sRSE sifdfaw, 2009 &1 ol F=a 32

The Right of the Citizens To Education Act
A

TRran & forg iR sifufaw

The Right of the Children To Free Education Act
B

=1 o e Rian sifdfas

The Right of the Children To Free and Compulsory Education Act
C

e wa sifart Rian s

The Right of the Citizens To Free and Compulsory Education Act
D

AR F1 ol SR sifrarf e siffram

Correct Ans : C

Subject : Child Developement

Q.No: 134 Which of the following factor is not influenced by Environment in a child?
2478855

fFufafed § A $19 W $RS e g § gafaror § gHifad @) §ar g2

Blue eye of a child

TF g @t el sif@
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B Behaviour of a child

TP I B FIGR

Social Life of a child
C

TP T= ST AHNSD Sia

Education of a child in later adolescent age.
D

915 P fHRiRawT & o= &t Rl

Correct Ans : A

Subject : Child Developement

Q.No: 135 Kleinfelter's syndrome is caused by an extra chromosome.
2478892

Fhee: RIgm o sfofad __ 0 & SR G 21

Y
A
B
X
XandY
C
X 3RY
YY
D
YY

Correct Ans : B

Subject : Child Developement

Q.No: 136 Which of the following statement is correct regarding Post Conventional level of Kohlberg’s theory?

2479281

FraeT F Rigid F IR IRING TR F Gae F Fofifed 3§ § 317 o 9 98 2

People take decisions about right and wrong based on their needs and desires.
A

anT St SRR SR RISt & YR TR el SR e & R F Fofa A3 ¥

People do judgment based on socially expected rules, norms, rituals, rule of law, loyalty towards nation and so on.
B

T HHIe U & SifE P, A, s, S ¥ R, Ay & i FsT oif & enuR w fofy 4 §)

People think beyond all personal, social, and legal dimensions and think largely about humanity.
C

i ot T, S SR ST S § W 9 § o 9 3AH W AT & R # 9 €1

People's judgment is based on their requirements.
D

it 1 o It sirazamrel W snuld g B

Correct Ans : C

Subject : Child Developement

Q.No: 137 Which of the following is not a characteristic of Individualized education for children?
2479525

fofifad & ¥ o gt & e afdea Rien @) fatwar == 82

To meet learner's individual needs and goals beyond their current strength.

TRremif 3t saferra SRt SfR et Bl TP I Haddr § W B & R
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B Focuses on making students work together to improve educational results.

ARy aRkomd § YR F RT o6 ) T W B B W B HRa1 3l

Learning proceeds in a straight way with factual gathering and skill mastery.

TS THAB 3R I Fguren F Fr iR G IR w e wgar 21

Outline adaptations and modifications to provide quality education to all children.

it 7= 31 qoraarg! e TeH S & RIT srgge iR Wi @1 w0 R B

Correct Ans : C

Subject : Child Developement

Q.No: 138 Which of the following is correct about Rabindranath Tagore's beliefs about education?

2479540
e % TR T gy 3R I ARl & aR ¥ Pufifed ¥ § o @ w82
Medium of instruction should be English
A
TRregr o1 e ST S AT
Nature is the richest source of knowledge.
B
TPTI I T I 9 G B
RabindranathTagore was against the scientific way of inquiry or technology.
C
g SR S aliP | Wi a1 dbrie & e &
Rabindranath Tagore only emphasize on higher aims of education.
D

TdfeTy ST Haa a1 $ I R WA &

Correct Ans : B

Subject : Child Developement

Q.No: 139 According to Rabindranath Tagore, which of the following factors will help the learner to achieve its highest aim in education?
2479552

gy TR F SR, Fofifed & 3 S O oRe Rierlf &1 a1 & I=aq a96d B U S & 7gg HI?

Teacher
A
Rigres
Hard Work
B
FOR TR
Self discipline
C
SHTH SR
Talent
D
Tfert

Correct Ans : C

Subject : Child Developement

Q.No: 140 Which of the following is NOT TRUE about the Two-Factor theory as propounded by Charles Spearman?
2479712

I WA gR1 vfauifed f§-oRe figiad & aR & Foffea § 3 o o aa dt 82

A Charles Spearman after conducting studies concluded that intelligence is made up of two factors: the general or g factor and the specific or s

factor.
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I THIRAF A e B & w16 iy P [ 9 < FRe! @ 1 §: I a1 g- FRE SR [AIRE a1 s-BRe|

The g factor indicated the ability of doing mental tasks.

B
g- BRE = WARIE BIAl S I B &HaT BT Hobd fam|
To perform a task effectively, one needs some specific abilities. This specific ability is called the s factor.
C
Tt o Y wHTE € R F R, Tt 1 oo fafk amarel @ siaawar i €1 59 RS &M B s-PRE FeT o B
The g factor is variable factor while the s factor is unchangeable and fixed.
D

g- PRP IR FRE § A - FRE uRad1g ik RR B

Correct Ans : D

Subject : Child Developement

Q.No: 141 __ occurs whenever a person must choose between contradictory needs, desires, motives, or demands.
2479955
e FHt T e o RER AR srazawarsi, swrel, ARIRS! qur A F de A B Usare, af gt gl
Frustration
A
Far
Aggression
B
S{IBIHSG T
Conflicts
C
6
Lethargy
D
Rl

Correct Ans : C

Subject : Child Developement

Q.No: 142 needs are known as higher level needs which include the need of intellectual achievement, need of aesthetic appreciation and need of self-
2480007 ctualisation.

HILIDH AN DY I TRIG A AHASN & &0 F 9 el § Rt Hfgs Iuafer @} siazgenar, Wied v 3t srawamdr iR i1d- 31 siaxadhar a3

Incompleteness

A
st
entity
B
&
actual
C
qr&ifa®
Self
D
@l

Correct Ans : B

Subject : Child Developement

Q.No: 143 Who among the following is the key theorist of humanistic approach of motivation.
2480026

Fofafaa & & S sfiRon & AFTdEd eRS o T RgdeR g
A Skinner
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R
Maslow
B
L
Weiner
C
4R
Wenger
D
IR

Correct Ans : B

Subject : Child Developement
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Q.No: 144 During which of the following stages of moral development given by Piaget Rewards and punishment regulates the moral development of the child?

2480222

T gRT U TIT Afdes fawr & ol ol § 3 759 o & ERA R R <8, 99 % e e &) e o 82

Anomy-Morality

famH-Afdear

Heteronomy-Authority

RG-SR

Heteronomy- Reciprocity

TRIIAT-IRETREar

Autonomy-Adolescence

Il RIRTaRT

Correct Ans : B

Subject : Child Developement

Q.No: 145 wernicke's dysphasia that leads to learning difficulties belongs to which type of dysphasia?

2480311

e @1 U Se (FEebfom) siftm & Se-gal Iaa Fxar 8, 98 59 yoR & uiw Je (Fe<hfomm) ¥ defia 82

Expressive dysphasia

SIETP YIS AP

Receptive dysphasia

Uit HINT dFed

Global dysphasia

s wTwT B

Functional dysplasia

ThaRFd feeanferar

Correct Ans : B

Subject : Child Developement

Q.No: 146 Rima is an intellectually bright student. Which of the following characteristics will be displayed by her?

2480355

A

1 g U A Aurd BET 31 ITF gRI AR # ¥ FH-I dvar vefia 31 smwfe

Self-directed learning and self-assessment
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wW-FERE AT SR S-TeisT
Impulsiveness and self-dependent
B
SfrdTiterar R airer-Frdvar
Shy and sensitive
C
Tl SR TaerRia
Lack of self-discipline
D

SR B HHT
Correct Ans : A

Subject : Child Developement

Q.No: 147 wWhich one of the following teaching strategy is not related to autocratic teaching strategy?
2480622

fafafed # 9 S 9@ Rigor AR WorEr e e § 96la 76 82

Lecture Method

A
e farR
Demonstration Method
B
e fafy
Discussion Method
C
=i ffYy
Story telling method
D

FEHI Hoq 1 A

Correct Ans : C

Subject : Child Developement

Q.No: 148 According to Gardner’s theory of multiple intelligence, which one of the following intelligence expected for Athletes.
2480739

TR P 95 YA F R & SFFuR, Queie! & R Fa & F frw gfawmm @1 shan 31 Swd 31

Linguistic
A
YN
Interpersonal
B
IRERS
Naturalist
(@
wpaardt
Bodily-Kinesthetics
D

TR fofierar
Correct Ans : D

Subject : Child Developement

Q.No: 149 Which of the following is an example of continuous process according to the principle of development of children?
2480796

Frofafed & 3 o 91 a1 foer % Rigid F SR MR Uihar $1 U6 IS0l 82

A They will try to understand the difference between kite and airplane
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Motor movement development generalized

B

gawht iy faery wmRied

Spinal cord develops first in contrast with other parts
[e

3 HRT F a9 3t 58 ved fAeRa gt §

Child starts from babbling then further accomplish a language
D

T TEQ FegaHT URH FR ¢ 3R fhR o IS 1 G- 9d §
Correct Ans : D

Subject : Child Developement

Q.No: 150 Assessment is purposeful if-

2480817
Students score good marks
A
BEI T oS 3 TR fPU T
Questions are balanced in the test
B
wten & v e §
Serves as a feedback for students and teachers
C
B SR Rert F g o wfafrm & o i srf %
All of the given options
D

fow T Wit fawew

Correct Ans : C

Subject : Child Developement
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